
Midterm
Microeconomics for Public Policy I
Fall 2020
October 13, 2020

Name:

Exam Instructions

1. This exam is open book, open note, open internet.

2. All work you turn in should be your own, and in your own words. You should work by
yourself on this exam.

3. Answer all questions.

4. The exam is graded out of 100 points. Points for each section and question are indicated
on the exam.

5. Write legibly. Illegible exams cannot be graded.

6. The final page is intentionally left blank for extra work. If you do extra work on this
page (or any other non-standard location) that you would like to be counted, note it
clearly near the question you are answering.

7. Label all figures as needed.

8. We give liberal partial credit. If a question has multiple parts and you can’t answer
one, it is in your best interest to answer all the remaining parts to the best of your
ability.

9. Make sure you explain your answers as needed. When appropriate, you should also
explain any assumptions that you make to arrive at your answer. Explanations may
yield partial credit.

10. Be concise.

Submission Instructions

1. Submit to your personal google folder

2. Submit one pdf for the entire exam

3. Name the pdf lastname midterm.pdf. Mine would be brooks midterm.pdf

4. Exam will run till the end of the class session (5:20 or 8:00). You then have a ten
minute grace period to turn in your exam (till 5:30 or 8:10)
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5. After this, we take off one point for each minute the exam is late

6. If you run into disaster, post pictures of all your exam pages to your personal google
drive folder by the deadline and post the pdf as soon as possible after that

7. In the event of google drive failure, submit your exam to lfbrooks@gwu.edu. This
should be a last resort only.

For marking purposes only

Part A

Part B

Part C

total
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A. Ripped From the Headlines (9 points)

Read the article from the Wall Street Journal at the end of the exam. You can stop reading
after the first picture on the sixth page of the article.

1 (2). Draw a picture of supply and demand in the pine tree market in the US South in
the late 1980s, and then add current supply. Discuss the position of the new supply curve
relative to the old supply curve.

2 (3). Discuss two reasons for the change in the supply curve.
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3 (4). Find the paragraph beginning, “It was worth the trouble to sort the trees carefully.”
Give a supply or demand explanation for these price differences.
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B. Short Answer Questions (40 points, 5 points each question)

1. Give two examples of things that could shift demand for movies (movies writ broadly, not
just movies in the theatre), and describe which way each example shifts the demand curve.

2. Define the cross-price elasticity of demand. Then consider the cross price elasticity of
demand for bananas and apples; say whether its sign is positive or negative for you, and
explain why.
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3. Suppose that only supply or demand changes in the market for lentils. Further suppose
that the equilibrium price declines and the equilibrium quantity increases. Did the supply
curve or the demand curve move? Which way?

4. Define a luxury good and give an example of something that is a luxury good for you.
Explain why.
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5. Suppose that the government is contemplating a new tax, and that design is such that the
statutory incidence falls on suppliers. The government is considering two distinct markets in
which to levy this tax: Market 1 with relatively elastic demand, and Market 2 with relatively
inelastic demand. In which market do consumers bear a greater burden of the tax? Explain
the logic behind your conclusion using pictures as needed.

6. Suppose that Joe’s demand for ice cream is given by Q = 5− 2P and Mary’s demand for
ice cream is given by Q = 10 − 3P . What is the maximum willingness to pay for ice cream
(the highest price anyone in the market is willing to pay) by either Joe or Mary? Explain
how you arrived at your answer.
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7. Suppose that you consume only squash and cheddar cheese, and that you prefer cheddar
cheese to squash. Draw indifference curves that reflect this (put cheese on the horizontal
axis) and explain why they look the way they do.

8. Define the diminishing marginal utility of consumption of a good, and describe it in action
for something you consume.
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C. Medium Answer Questions (51 points, sub-points as noted in questions)

1 (19). Supply, Demand and Zucchini

Demand for zucchini is P = 100 − 5Q and supply for zucchini is P = 20 + 3Q. (Zucchini is
sold in 10-kilo bags.)

(a, 3) What is the market equilibrium price and quantity of these 10-kilo bags of zucchini?

(b, 4) Define consumer and producer surplus and gives values for them in this market.
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(c, 4) Suppose that the government wants to increase the quantity of zucchini its citizens
are eating. In response, it adopts a policy where 10-kilo bags of zucchini cannot be sold for
more than $40. Add this policy to your chart (or make a new chart if this is easier) and find
the new equilibrium price and quantity.

(d, 4) What are producer and consumer surplus at a price of $40?

10 of 24 GWID:



(e, 4) Has the government achieved its objective (see part (c))? Why or why not?
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2 (19). Individual Decisionmaking

(a, 3) Suppose that Fiona’s income is $100, and that she purchases only suits (denoted U),
which cost $10 and dress shoes (denoted S), which cost $20 per pair. Write the equation for
Fiona’s budget constraint.

(b, 4) Draw the budget constraint, labeling the axes and intercepts. Put dress shoes on the
horizonal axis and suits on the vertical axis.
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(c, 4) If she could afford it, might Fiona prefer 4 pairs of dress shoes and 5 suits to any
current optimal consumption? Why?

(d, 4) Draw an indifference curve on your picture from (b) (or repeat the picture with this
curve) such that Fiona is consuming optimally.
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(e, 4) Suppose that Fiona’s marginal utility of suits is MUU = 2S and her marginal utility
of shoes is MUS = 5U . If she consumes 4 suits and 3 pairs of shoes, is she consuming
optimally? If no, of which good should she increase consumption? Explain why.
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3 (13). Income and Substitution Effects

Suppose that the government is deeply interested in non-meat proteins. At the moment,
beans and lentils both sell for $1 per pound, and all consumers have an income of $1000.

(a, 3) Draw the original budget constraint with lentils on the horizontal axis. Label axes and
intercepts. Also draw an indifference curve such that the consumer is consuming optimally.
Note the location of optimal consumption.

(b, 3) The government would like to make lentils cheaper relative to beans. To do so, the
government subsidizes producers so that all lentils are half-price. Add an additional budget
constraint to this figure that shows this new policy, labeling intercepts.
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(c, 3) Use the figure to show the income and substitution effects of this price change for
lentils and beans. Mark the amounts on the graph; no need to provide exact numbers.

(d, 4) If lentils and beans became less substitutable, how would the substitution effect for
lentils change? Give intuition about why.
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Name: Blank – for extra work
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23 of 24 GWID:



���������� ���	
��

������	�������
�������
�����
����������������������
�������������� 

���!
"��###�#
$�%�������%��
����	
��

����
�	�������
�!�����
�����
�������������������
�
���#�����&'(�(&�&�)��
*�!+���
+!�
, -��

./01�234516�78998998::8;�3<29860�3=�>0=31?;�@A5B;�C031D0�E5AA516�F51/09206�GHH�5I109�4F010�5?8J�3=�21009�F56�9:13<206�K52<15AAL�5=201�5K�051A801�IA051MI<2B�NF0�F5164336�F010�459�5OA0998KD;�102<1K8KD�PQR�5�23K�8K92056�3=�2F0�PS�23�PGQ�5�23K�F89�:8K0�21009�=02IF06�5=201�0J:0K909;60:0K68KD�3K�4F52�:136<I2�2F0L�4010�60928K06�23�O0I3?0BNF0�0I3K3?8I9�510�?<IF�43190�=31�G;HHH�5I109�F0�34K9�5I1399�2F0�1356B�71B�E5AA516;�RQ;�IA051MI<2�O32F�215I29�5=201�F0�O3<DF2�2F0?�8K�GTUVB�WKA8X0�2F0�9?5AA01�:51I0A�2F52�F0�A0=2�23�D134�O5IXK52<15AAL;�F0�9:0K2�?310�2F5K�PQHH;HHH�:A5K28KD�2F0�A51D01�:13:012L�482F�1349�3=�:8K0B�Y3?0A<I1528/0�95A09�F56�:13?:206�F8?�23�D3�5AAM8K�10:A5K28KD�2F010�5K6�3K�32F01�A5K6�F0�34K06BZ[�D32�PR;HHH�5K�5I10�5K6�40�2F3<DF2;�\]0̂/0�D32�23�:A5K2�0/01L2F8KD�482F�:8K0�O<9F09;̂_�71BE5AA516�9586B�Z]0�2F3<DF2�2F0�=<2<10�459�:8K0�21009B_8̀K0�21009�2F52�43<A6�F5/0�O00K�4312F�PSa�5�23K�Z3K�2F0�92<?:_�O5IX�2F0K�?8DF2�102<1K�PGS�523K�K34;�F0�0928?5209B�b31�8KI3?0;�F0�A05909�=31092A5K6�23�F<K2019B�c0�O<8A2�5�9?5AA�A5X0�5K6�5I5O8K;�:A5K206�93?0�IA05106�9:329�482F�IA3/01�23�:13/860�=336�=31�6001�5K6�32F01�48A6A8=0�5K6�902<:�93?0�OA8K69B�b3<1�?0K�=13?�E81?8KDF5?�:5L�F8?�PRa;HHH�5�L051�23�618/0�3<2�3K�400X0K695K6�F<K2�4F820258A�6001�5K6�2<1X0L9�8K�90593KB71B�C031D0;�2F0�78998998::8�=51?01�4F3�:A5K206�I13:A5K6�23�21009�<K601�5�=06015A�I3K901/5283K:13D15?�8K�2F0�GTUH9;�?3/06�23�70?:F89�5K6�O0I5?0�5�I3223K�0J:31201B�d34;�482F�2F0�:8K021009�?52<10�5K6�1056L�23�F51/092;�F0�F59�23�I3K98601�F89�=52F01̂9�092520�:A5KK8KD�5K6�5�93K�8KI3AA0D0�59�F0�eD<109�3<2�4F52�23�63BY3?0�3=�F89�21009�F5/0�3<2D134K�K051OL�954�?8AA9�5K6�48AA�F5/0�23�O0�:<A:06�=31�A3401�:18I09B]F02F01�71B�C031D0;�4F3�89�aV;�F51/0929�K34�31�F3A69�3<2�=31�F8DF01�:18I09;�F0�48AA�<A28?520ALF5/0�23�60I860�4F02F01�F0�45K29�23�I3??82�23�21009�5D58KBZ[̂?�K32�9<10�8=�40̂AA�10:A5K2�31�A02�82�D3�23�:592<10;_�71B�C031D0�9586B�Z]0̂6�F5/0�23�6LK5?8202F0�92<?:9;�2F3<DFB_fghij�ik�>L5K�l0m0?O01�52�1L5KB60m0?O01n49oBI3?pqqrstru�vw�xyr�z{x|}rt�~�����~���qtvwx�ruvxv|w�s����trr����x��qt||x���|�xyrtw��w�r�x|t���
24 of 24 GWID:


